EAZAROZEBERT — 2 N—XIBISH—F 201978138 (+) 3E+=5H

mvjj FJCT 17X ¥7%3mLE (BE) (s TE= ‘ (x4 /J\Eﬁ‘ [l — |2 (£ 12000 BE
[A&4] 1 7 10,500,000 2 7% :4,200,000 § 3 3% :2,600,000 4 3% :1,600,000” 5 & :1,050,000 M
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
o\ 1BKI— :08. - . . FFIth (ER)
111111 ® Ky Ty Z R 4 3 5370 1(0_8)8 1-1 34.1] 96.2 | 1 422)2 e T
:War Front & :Moth Orpendale, Chelst
- —: N 4 5 | JIIEREHE 1:09.0 2-2 34.1] 940 | 3 474 | BRE (ER)
2 4 JalTA—E 55.0 (1 1/2) (+8) (B/) ¥+By ~T7—~4L
RIS INATA—H— B:TIN—A>TFy b J—HrTr—LA
LA t 3 | BERHK 1:09.2 6-5 34.1]91.9 | 4 452 | NHtHEE (BR)
3 3| 7WANT7HF -0 g 54.0 (1 1/8) () | () TAT 2 RAT
LixLvvHs/ xR BiYvyshAvR N EA
= MEZE= . - EHRZEE (FR)
4l5|5|@%NBT I -0 #H 5 ullal (11019/;1) 3-3 34.4| 89.6 | 8 (4_724) E_Fgﬁ
X:O-1I>90> BXTVTTRA HBET7—L
. s =3 : — 21| P
5 o | KLT =2 [B] i 4 5:—157)*3 1(.10/92.>5 6-5 34.4] 8.5 | 9 (_‘TZ) f;g;;_gﬁ (TH)
L:7A7% B:IRRINTU—> [ Ee ]
3 S 4 5 | FE#HW 1:09.6 10-10 | 34.1| 87.6 | 10 | 456 |REET (EXR)
6l7l9|®X1>¥37aPT 57.0 (3/4) (o) | BALFHE
R:FLTANZ N Bik—v2TUyT = re)
> 5 — 4 6 | KOED 1:09.6 8-7 34.3| 87.5 | 12 436 | AREE (EH)
7 8 yrJzlh=— 55.0 (NF) (-2) (76')g ST —L
R:x¥/ by THY B:TFAIATAX HET77—L
SRRy 4t 3 | M. FLA—H 1:09.6 10-10 [ 34.1| 87.6 | 2 430 | EERE— (FF)
glgli1| T~V —~ 52.0 (7€) oy | ) e
R:VvR2yz4 B:I->2T50va AW
N = t 3 | AEET 1:09.7 10-10 | 34.2| 86.5 | 5 434 | AEE (RR)
9|7{10|FH/ AT * 5.0 (1/2) (2) |AEBE
R:T—9TA—=Z B:E2H/HN-F HRSUHB A/ 77— 4
: S o6 | AKX 1:09.9 8-7 34.7| 8.3 | 7 498 |BHEZ (BR)
10/8/12| 7 Fx1vA~ > 57.0 ( 1/4) (o) | EEEFI—
R:Xx>ThANAN B:7O0-Uy Kd—t J—HrTr—LA
. 4 5 | BAUGAF 1:10.2 4-3 35.2| 81.4 | 6 490 | IIH4HEE (R®)
EH 7 I‘_Zkrjtxﬁ’\" [B] 55.0 (1 3/4) (-6) REME (&)
R:ZAR)—bE2R BE—FZX502 BB
i > 44 | BERLEH 1:10.6 47 35.3| 77.3 | 11 466 | TEEB= (ER)
12|56 | @71 T77—TL—"J 57.0  1/2) 4y |8
L:O-LiFLf4n BII77 R EX
@ 71 L
) 45.7-34.1
NA>Z4 L | 12.2-10.9-11.6-11.5-11.2-11.4
® I —F—EBIERL
1T=7r=
230—F—
Fol=5r= 1,4,5(6,7) (2,3) (8,12) (9,10,11)
43 —F— 1,4(5,7) (2,3) (8,6,12) (9,10,11)
[ N3
BB 1 240M 714K 1-4 260M ) 1-4 580 JEHE 1-3-4 1,300H
8 B 1 110 =8 310M B = 1-4 540 3 E 1-4-3 4,190
4 160 3-4 540M | | & & 1-4 890M
3 170

ARICOVWTRDTEEERROODE. TR LIV,



